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Background
RAN#96 meeting approved RP-221369 Revised WID on Air-to-ground network for NR in Rel-18. The agreements and open issues are captured in this way forward. 

Previous agreed WFs are R4-2217736, R4-2220542 and R4-2303573
Way Forwards

Sub-topic 1-1 ACLR and ACS assumption for non-synchronized scenario.
Agreements：
Using following assumptions for non-synchronized scenarios to derive isolated distance as starting point
45dB ACLR and 46dB ACS for both TN and ATG BS. 
Sub-topic 1-2: whether to/ how to simulate another ring of TN network

Agreements：
For scenario 11, if simulator doesn’t support additional ring of TN network, i.e. additional 18 site and 54 cells, it’s allowed to double the aggregate interference power from the 57 TN cells to simplify the platform modification, i.e. interference +3dB
Sub-topic 1-3 network layout between ATG network and TN

Issue 1-3-1: location relationship for TN (Aggressor, DL) –> ATG (DL) and ATG (Aggressor, UL) –> TN(UL) scenarios
Agreements:
For TN (Aggressor, DL) –> ATG (DL) and ATG (Aggressor, UL) –> TN(UL) scenarios, conclude simulation results based on that ATG UEs flying over a TN cluster while ATG BS is 100km away as shown below.

Optional: ATG BS is 300km away.  

Capture Ericsson’s simulation results into TR.

The simulation results are robust for the distance up to 300km
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Issue 1-3-2: location relationship between ATG UE and TN network for non-synchronized scenario to conclude isolation distance
FFS and conclude in May meeting to simulate the worst case.
ATG UE and TN cluster are on the same side of ATG BS, i.e. ATG BS actually point at TN cluster to consider the worst case.

Minimum distance between ATG BS and ATG UE is 20/50km

There is no additional restriction between ATG BS and ATG CPE. Companies are welcome to provide their results for worst case with detailed deployment illustration. 
Following show one example for simulation
if isolation distance between TN cluster and ATG BS is larger than 20/50km, ATG UE is always on top of TN cluster

if isolation distance between TN cluster and ATG BS is less than 20/50km, ATG UE is dropped 20/50km distant from ATG BS
The isolation distance is the distance from the ATG BS to the nearest TN BS. The ATG BS sector and nearest TN BS sector should be pointing towards one another in azimuth. The diagram below is illustrative and does not capture this.
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Sub-topic 2-1 timeline for co-existence simulation

Agreements:
It’s suggested to approve following timeline and strictly implement this timeline.
Moderator note: current calibration is not aligned, following timeline may need to be updated accordingly. 
	date
	RAN4 meeting
	Target for high priority scenario

	2023-04
	RAN4#106bis
	Deadline for official calibration phase, note 1
deadline for completeness of all assumptions for 1st priority

	2023-05
	RAN4#107
	deadline for collection of simulation results for 1st priority
conclude ACLR/ACS for ATG BS and UE based on 1st priority scenarios
deadline for completeness of all assumptions

	2023-08
	RAN4#108
	other co-existence related requirements discussion based on co-existence results
conclude isolation distance for 2nd priority non-synchronized scenario

	2023-10
	RAN4#108 bis
	conclude co-existence related RF requirements

	2023-12
	RAN4#109
	final results check and summarizing 
CR drafting

	Note 1: companies that doesn’t show calibration results until this meeting could also provide final simulation in future meeting but have to company with calibration results to confirm their simulation results are aligned with other companies. After RAN4 #106bis meeting, it’s also OK to update the data that would be captured into final TR.
Note 2: “TR drafting” is ongoing in RAN4 #106bis meeting and could continue through the whole WI. TPs should only be made for issues that are already decided.


Sub-topic 2-2 how to collect final simulation results

Issue 2-2-2: template of final simulation results table
Agreements：
Use the following template table for the final simulation results
	Company
	Simulation scenarios
	Throughput loss, detailed explanation in sub-topic 2-3
	Relative ATG ACLR/ACS offset
ATG ACLR/ACS are derived based on that ATG BS and UE use the same value as TN BS and UE

	
	
	
	
	
	
	
	
	

	
	
	5% in the whole network
	
	
	
	
	
	

	
	
	50% in the whole network
	
	
	
	
	
	

	
	
	5% of users within the cell with largest throughput loss for the case of TN DL victim
	
	
	
	
	
	

	
	
	50% of users within the cell with largest throughput loss for the case of TN DL victim
	
	
	
	
	
	

	Note 1: offset 0 means ATG ACLR/ACS=legacy ACLR ACS. There is no uniform ACLR/ACS offset step suggestion.


Issue 2-2-3: template of final simulation results plots
Agreements：
X axis is ATG BS/UE ACLR/ACS (as appropriate) to make it easier to directly read off from the plots the ATG BS/UE ACLR/ACS value that meets the 5% throughput loss requirement.
Sub-topic 2-3 performance metric

Agreements：
5% and 50% in the whole network (When TN as victim, 5% and 50% are 5% ad 50% of the whole TN. When ATG as victim, 5% and 50% are the 5% and 50% among all drops.)
5% and 50% of users within the cell with largest throughput loss for the case of TN DL victim
Sub-topic 3-1 calibration
During offline discussion, calibration results are collected from CMCC, ZTE, Qualcomm, CATT, Huawei, Ericsson. Detailed shown in R4-2304204(excel file)
Official calibration phase would be closed after this meeting.
Following show explanation for two new SINR tables in calibration excel file. These two new SINR tables are only for calibration purpose. Besides, they are not mandatory to submit.
Table 2: SINR CDF with adjacent channel interference from synchronization intra-system. Here the SINR=S/(N+IICI + IACI).
For TN, IACI is from synchronized TN network using adjacent channel
For ATG, due to we only consider one ATG BS and UE, IACI and IICI are both 0
Table 3: SINR CDF with adjacent channel interference from synchronization inter-system. Here the SINR=S/(N+IICI + IACI).
For TN, IACI is from synchronized ATG network using adjacent channel
For ATG, IACI is from synchronized TN network using adjacent channel and IICI is 0

� EMBED Visio.Drawing.15 \* MERGEFORMAT ���








[image: image3]If isolation distance> 20/50 minimum ATG UE-ATG BS distance
Minimum distance between ATG UE and ATG BS



If isolation distance< 20/50 minimum ATG UE-ATG BS distance
Minimum distance between ATG UE and ATG BS



